Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

78 x 6 =

1093 - 718 =

541 - 382 =

718 - = 367

2.9+ =4

Here is a Carroll diagram
for sorting numbers.

Write these five numbers in
the correct places on the
diagram.

odd

not odd

a 3-digit
number

not a
3-digit
number




Q7.

(a) There are 5 bananas in a bunch.

There are 17 bunches in a crate.

Q8.

Write these prices in order from smallest to largest.

{ £0.65 > i> £225 >
)

a7 )L

smallest largest

Q9.
The numbers in this sequence increase by the same
amount each time.

Wprite the two missing numbers.

620 650 680

Q10.

Choose the number which is closer to 1000

994 1004



